
© 2021 SuperATV.com®.   All Rights Reserved.	 IN-FF-H-TAL 6/28/2021

INSTALLATION INSTRUCTIONSINSTALLATION INSTRUCTIONS

Fender Flares: for Honda Talon

Right Bracket

Left Bracket

(disregard any remaining hardware)

Right Front
Right Rear

Left Rear
Left Front

ASSAULT INDUSTRIES // 2753 MICHIGAN ROAD // MADISON, IN 47250 ASSAULTIND.COM

NEED ADDITIONAL HELP?
Check out our YouTube channel
Call us : (714) 799-6711
Monday - Friday: 8am-5pm
Email: sales@assaultind.com



ASSAULT INDUSTRIES // 2753 MICHIGAN ROAD // MADISON, IN 47250 ASSAULTIND.COM

TERMS AND CONDITIONS DISCLOSURE



3IN-FF-H-TAL-001

(driver)(driver)

-	 use a Ø1/4” bit and drill holes into stock plastic -	 use a Ø1/4” bit and drill holes into stock plastic 
-	 secure Left Front to body with hardware shown-	 secure Left Front to body with hardware shown

align Left Front to align Left Front to 
stock protrusionstock protrusion

2x - Push Pin



4IN-FF-H-TAL-001

-	 use a Ø1/4” bit and drill holes into stock plastic -	 use a Ø1/4” bit and drill holes into stock plastic 
-	 secure Left Front to body with hardware shown-	 secure Left Front to body with hardware shown

4x - Push Pin



5IN-FF-H-TAL-001

-	 use a Ø1/4” bit and drill holes -	use a Ø1/4” bit and drill holes 
into and through stock plasticinto and through stock plastic

press Left Front up press Left Front up 
to stock plasticto stock plastic

align forward edge of Left Front align forward edge of Left Front 
to stock plasticto stock plastic



6IN-FF-H-TAL-001

M6 x 40mm

Washer

M6 Nut

(4 each)

Fender Washer

stock plastic

Fender Flare

Spacer

secure Left Front with hardware shown



7IN-FF-H-TAL-001

repeat steps for Right Front



8IN-FF-H-TAL-001

M6 x 40mm

Washer

M6 Nut

Fender Washer

stock plastic

Fender Flare

Spacer

remove stock Push Pin and secure remove stock Push Pin and secure 
Left Rear with hardware shownLeft Rear with hardware shown



9IN-FF-H-TAL-001

Fender Flare

M6 x 20mm

Washer

M6 Nut

(2 each)

Fender Washer

install Left Bracket to Left Rear with hardware shown; install Left Bracket to Left Rear with hardware shown; 
tighten completelytighten completely



10IN-FF-H-TAL-001

align edges of Left Rear align edges of Left Rear 
to stock plasticto stock plastic

use a Ø1/4” bit and drill holes use a Ø1/4” bit and drill holes 
into and through stock plasticinto and through stock plastic



11IN-FF-H-TAL-001

M6 x 40mm

Washer

M6 Nut

(3 each)

Fender Washer

stock plastic

Fender Flare

Spacer

secure Left Rear with hardware shown



12IN-FF-H-TAL-001

secure Left Rear with hardware shown

push Left Bracket up to close gap between Left Rear and stock plasticpush Left Bracket up to close gap between Left Rear and stock plastic

-	 use a Ø1/4” bit and drill hole into and through Cargo Bed-	 use a Ø1/4” bit and drill hole into and through Cargo Bed
-	 secure Left Bracket with hardware shown-	 secure Left Bracket with hardware shown

M6 x 20mm

Washer

M6 Nut

Fender Washer

Cargo Bed



13IN-FF-H-TAL-001

repeat steps for Right Rear


